i 2 T & ZRES 5 B2 HRES %2 % E =
= =1 AN
EUALEASHBEREE (H23) oso08/ & # X # (101 #® @ 034
[ ] s#=zs0)
N
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
2.0 4.9 1.9 20 30 |22 23 2411.223 3.4 4.0 29 {20 201.11.8
e ) e V o V o

= EHE 1 HEE #

= [ ® P P e

= n IR ~
- = SHERLERTE LY o

L — (T -
2 o | e Py 5 i
s B T ~
— IR %I T - : sngelpmed ¥ i

ol p | B5= il xzmxz  [&-n |0 ARE N

z E5% =

o ® ° ® a® =

° ° ™ ° o-|_!|
A
2.0 4.0 4.9 2.9 2.1 ‘1.31.4 200 3.5 3.4 3.4 3.5 3.5 3.4
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
1THREERK 1:400 1EFEER 1:400

(BEZRKRE)

[1BemER 1:400]




i 2 T & % FRES R ) HRE S ® " E =
s ‘ 0508| 13 & i
EUkSEASHRELEE (HX3) B # X #1101 # M 034

N [ m#xaW0)
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
3.4 3.5 3.9 3.0 |22 23 2401.223 34 4.5 2.4 4.0 29 120 201.11.8
e e e ®
2 EuABEE S8
EHE
[ ® ® ® o e
. pg | PS | BRER: | [pees ~
| o= #fgE == E;.y;ﬁm P Mﬁgﬁ o ERARNPRYE | 22 .
< B 3 PS4 2 1 <
iz -
= o____. e o= { —
i ] B T ] B T . i
| | > ]
o = mes |gms | ams | pee =
< P ® ® o _
L L L P A =
B2
3.4 3.5 3.4 ‘ 3.5 3.4 3.5 3.4 3.5
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9

(BEZRKRE)

[2EFER 1

: 400




i i B & = FREE 5 & 2 ARES %2 B B B
o ‘ 0508| & a2 \ B
EUkSEASHREEHE (5:23) B # X ®|101] # M 034
[ ] m=#=Zs0)

[ ] BExsQ@

6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
4.9 2.0 3.9 3.0 122 23 241.223 3.4 2.5 4.4 3.4 35 120 201.11.8
Y e e Y 'Y
= EREEPREE (1)
SRERZETE (2)
o ¢ ® 'S ® ® 'S e
- [ amm | PS IRANET L’; zT ksl ~
- ev | xR hANEE EREEZHRE R 2| 7| .
~ + & & SR 4 3 =
L L e e = V‘ ® Py FEE Y S 1
< BT = i BT S
t |+ |« |« | AT = ]
I gy % % % % | xR w3z |ugs paeslaes |wees o =
= NENENERET -
o1 |02 |30 |ae | g ® ® ® ° _
(Y ® ® ® 01__3 EREuE RRGE AREET =
3.4 3.5 3.4 3.5 3.4 ‘ 3.5 3.4 ‘ 3.5 3.4 ‘ 3.5
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9

(EE¥HBRS)
[3EFmE 1:400]




Nk
3
w

b ] Al E & B3 $RES HitE s R B E £
0508| @& # X % 101 noE 034

%= 3)

EFER )
EFER Q)

6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
3.5 3.4 3.9 3.0 122 23 241011223 34 20 201.11.8

|11

6.5
4.5

2320

10.5

8.2

. ® ® ® o @ )
e e [amslPe 1 | fesE e ~
:0: EV T e p3f—% e
| | EPS 2 403 e
S = &7 E v bd
i g -_ﬂ_-g o—= -
B T ! N
_____ Pb )
7b91 WFE = =
BA- EABHLEEE ERTE - A
° o ° ® o—.J =

6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
ABMEERK 1: 400 ABETERK 1:400
R 47 3m? R & 46 2m?

(BEERES)
[4mF@mER 1:400]




b ] Al E & B3 $RES % & 3 M it & = R B E £
. e . 0508| %@ # | 101 \ 4
EiKEEASHIEERE (HX3) B # X % |10 o 03
[ ] m==xs0)
[ ] m#Exs®@)
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
3.5 3.4 3.9 3.0 {22 23 241.223 3.4 2.5 4.4 20 201.11.8
. ® — T ® e 4 ® ® ® -
hd + A _ X = . 24 o~
< - ev [ % Plas ol TERE| prenns |srEmswRE | =
< 'If 7|“ i ) e PS E <
S S = ﬁrﬂ = EEy 3 e
~ 509 501 7 v EPS |
= 1 e e = ® [ ] [ ] [ ] r —
i B T ! B T =
' | AT —
- | P72 wpz gz sl s |gez |ges LS
TS BIENY  BEZRIE R I M ©
® —0— ® o =
° PY ® P & | B mEEEy REVR 87 pEEEY =
J 5.5 M‘&S M‘&E M‘&S u‘&s
6.9 | 6.9 | 6.9 6.9 3.5 6.9 6.9 6.9 6.9
(BEEZHEKRE)

[smemm 1:400




i 2 ™ & = FRES %= & 4 ARES ® % % E &
I . ‘ 0508| 1 # 1101 Y 4
DTS EASHREEHE (£3) B * X = |10 iy 03
[ ] ##ExaW0)
N [ ] B#EZEHEO
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9
3.9 30 122 23 2401223 34 4.0 29 120 201.11.8
o ® ® ¢ ¢ ¢ o
Al | PS RAED T [ o
ol < ev | | ETR e waERSTRE | RuEsHRE [ARERERRE <.
< #®HE = EPS = = = & A ] e
— = ] = —1 >
= & L] o~
< o e | ; VI‘ e ® e | o
S 1 BT | B T N S
""" S U ]
- v3r-2 |smz [puss|ass |ses (asz v L=
Sl o S (RS ) =
> SENETE A
o ® ® = 4 =
. ® ® ® ' i weEHy  BWAT AB_ REA =
B
34‘35 3.4‘3_5 34‘ 3.5 3.4‘3.5
6.9 6.9 6.9 6.9 3.5 6.9 6.9 6.9 6.9

(BHPRESD)
[6mFER 1:400




